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QUESTION 1

Which three statements are true regarding PAR Location Management? 

A. Organizations can perform locator-level stock counting for both quantity and non-quantity tracked subinventories. 

B. If the stock level falls below the target on-hand quantity for the locator, inventory generates the appropriate
replenishment document based on the item sourcing for the subinventory. 

C. A receipt is required on interorganization expense destination transfer orders between the from and to organizations 

D. PAR location management replenishment are calculated at the organization level or subinventory level. 

E. Periodic Automated Replenishment (PAR) enables facilities that do not store perpetual inventory (such as hospitals)
to perform locator-level replenishment. 

Correct Answer: ADE 

 

QUESTION 2

Your organization is using min-max planning to replenish stock and the planning parameters are set at item organization
level with a default subinventory: 

Item: A, Min Qty: 25, Max Qty: 150 and Current Level: 20 

The item above is purchased from a supplier. Althrough there is subinventory on hand, the subinventory in below the
minimum required level. This should trigger a Min-Max report entry, but the requisition in not generated. Why? 

A. Fixed lot multiplier is not set. 

B. Min-max planning Can be performed at the Organisation level. 

C. Rounding the Reorder Quantity is disabled. 

D. No value has been set for the "Min-Max Replenishment Reorder Approval" profile. 

E. Item is not defined in Manage item Subinventories. 

Correct Answer: E 

 

QUESTION 3

A third-party Service equipment is used for various purposes in a manufacturing facility and needs to be overhauled
once a year. This equipment is charged based on its consumption without a project dependency. 

At this point, it should be transferred out to the vendor\\'s warehouse for maintenance and then returned back in the
future depending upon the requirement. 

The material stock transfer should happen with an offline approval and with an account alias as a logical reference. 

What is the ideal way to handle this process? 
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A. Subinventory Transfer 

B. Transfer Order 

C. Move Request 

D. Miscellaneous Transaction 

E. Requisitions 

Correct Answer: A 

 

QUESTION 4

On the Supply Lines Overview page, the deviations in supply type chart show a supply line status of exception. 

What action must you take? 

A. This indicates that supply line quantities are less than required, so additional quantities must be procured to meet the
requirement. 

B. This indicates that supply line quantities are available but the quality is not up to the mark, so the quality issue must
be resolved. 

C. This indicates that supply line quantities are not available, so inventory must be procured. 

D. This indicates that supply line has an exception in manufacturing goods, so the supply line must be changed. 

Correct Answer: C 

https://docs.oracle.com/en/cloud/saas/supply-chain-management/r13-update17d/fauco/overview.html#FAUCO2039588 

 

QUESTION 5

Your organization is planning for a periodic counting of individual items automatically throughout the course of the year.
As part of this activity, the user has loaded items to the cycle count but some of the Items are not being considered
when count schedules and count sequences are not generated. 

Identify two reasons that explain why the items are not being considered. 

A. The Cycle Count Enabled flag is not selected for the item. 

B. The approval controls are not set up. 

C. The Include in Schedule option is not selected to include the item for auto-scheduling. 

D. The Cycle Count Enabled flag is not selected for the inventory organization. 

E. The ABC assignment group is not defined. 

Correct Answer: CE 
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